
CE 407 Stripping Tower Example 

A 100 mol/min of a solution with composition 95 mole percent oil, 5 mole percent benzene must be 

cleaned up. A stripping tower that will operate at 26.1 C and atmospheric pressure will be used. The 

exiting liquid benzene mole fraction must be reduced to 0.001. The entering air will be pure. If we are to 

use 1.3 times the minimum air flow rate how many ideal stages will be required? Assume that Raoult’s 

law is valid for this system. The saturated vapor pressure of benzene at 26.1 C is 100 mm Hg. 



 



 



 



 



 



 


